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�/*'"��*��	�Z�*; ��Z"� �	�[�!��	�����M�7��)T	���	3 2

1 1,H H 
GH��`����[�!��,	�����M��3_���2��*; �	�3%���
�/!�=$ 

KH���4�5�M"��	�/*��Z"� �	�[�!��,	�)���9!�N�$%2
1H����4�*�5���	�"3

1H��4�*6*��	�
	���S� 5�������	��%���6�A
Z eH���"

���"��*� 
OH��-J�
	� 6��a���	�)<�-�`����)5����:��a���	�)<�-�"�H-�?M�,	�)< 

XH���:.�	�a8b!cGc�����/*'"��*��	�Z�*;���[�!��,	��������)5�<�8�	�)6*Q��	��d�53 2
1 1,H H�� 

�%���/!�=$�S� �T	( )A
l Z eE H�����"3

1( )lE H����%���6�2
1( ) 2.23lE H Mev���� 

�_�����C�	�	�R�T	��d$@	�
	� �	 
�[����e����	�[�!��,	�����M�/��
�����	�)<�8�	�N#C% 

fH���4�5�M"��	��*;���(2
1H���$�B*C���?�	�]�!�/!��g=b�T	�/:�5

�7895���?�	�]�!�/!��C	"����33 mg���*; �	�	h��/! 
�/!��<=8�	���*6��^�Q��	�/:�5�7��	�)<�8�	�N#C%1,0 m3��]�!�/!

���?�	�
iH��4�*�	��*�	���8.�	�Y=���M��C%�/!�)�M� �	�)<�8�	235

92U����7�
175.97libE Mev��� 

�%���4�*�	��*�	�/!�)6�$�/��
�����	�)<�8�	�N#C%KOf��)6�:��)5"�#!
�7��
��'���	�4�5�M"��	1,0 m3 ����?�	�]�!�/! 

�_���
�����	�)<�8�	�"�[�!��,	�����M�/!�
�����	�)<�8�	�/*�����<
�S� �#M�	��!�"�)R��#�	�)6�:�	�j���/��/*�M� �	���8.�,	�����M�/!

k 
��
������23 16.02 10AN mol �� ���
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�4���7�Kuuf��7+�1��	�>$���	�\6-%Kourou ���*��	�/!�7�� 8g	���<II��0r��M��(��)5���	���g�@	�^��!�7������9�T,
�)6�:�	�"��7�� 8g,	���R�	 m= 2 . 103 Kg �7����:.�	�7��/*?!������$��C	�!�)F=F�\�"�U�5�7+�� �	��R�#!��*��	�s�	�!cGc���

I�)���F�)��#��Z�+	���	�!��6����R�	�0r�5�
���"@	�)6C���	�7��3vs���q�b !�&��M�	��6�26.0 10h Km� ���)?# ���
��U69��	���?������aR�����v�@	�_h'�
�R��01b5�B*C�v�@	�P8#�( , )s n��
�B*CS��"����7�� 8g,	���R�	�)��8��>$�!n�

��7�w� �	�����6��
�C��	�&�9��
GH�'�
�R��)*��9.�	�)<=9�	�78�	h���R6��v�@	�_�/T SF��UT��	��6����6*d�M�0! 
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KHKH
��9!�N�$%!�N�$%

OH�);�6�	�7��);�6�	�7�7 ans n

5���	�����VQ��/!W�������VQ��/!
NN0*9�	�-�.���%���6�9�	�-�.���%���6�

!(�/!���*6��*6���\R�M��*��C����\R�M�6
�*��	�Z�*; ��Z"� �	�[�!Z�*; ��Z"

�����M��3_���2��*; �	�3%��M��3_���2��*; 
��4�5�M"��	�/*��Z"� ��5�M"��	�/*��Z

a���	�)<�-�"�H-�?M�,	�)<�-�"�H-�?M
���[�!��,	��������)5�<�8�!��,	��������)5

���33
1( )33
1llEE ( 33
1ll�%���6�

��e����	�[���e���
��$�B*C���?��$�B*C
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KH��/M�* ��7��d�	�����R�	�\*?8���7�� 8g,	���R�	�)��8��>$�!�)��T�
��?���'"% 

OH��7�� 8g,	���R�	��"��
��?���%�/*�T��
������89M
2 3

2 4 ( )

.
T

T

R h
T

G M

* �
����� 

II�7����R�	���:5��!� ��7�*6*6�(�7��R��	��	�!��?���R�#!��*��	�s�	�!���(�7�� 8g,	���R�	��5��M��*6���e��5�
�)*��d�	�)6C���	�3
�)8R �	P ��)8R �	�0r�M�B*C�7��R��	�7�*6*6�(��	�!��:.���)R*<��)�Q������T�)�*<�0��M�q�b ��	�Z�+	��	�s�	���P���	���	�7�

�)8R �	�"�7��R��,	A ����R�#!��*��	��	���	�7��
GH����6?:��7��d�	�����R�	�I��78�	 
KH���:.�	�J�78*8b��	�UT������ *9�#!�E?F%cKc�)��T��%�H

��	���	�j���7����C�UF�7��R��,	��	���	�7��)���F�E#*����R�	

���*����:M����6�	�/*�8R �	 

�%���)5�Ag%�)��#�	 
�_���)*�;�%�)��#�	 

III��6���R�#!��*��	�7+�� �	�s�	�!�7����R�	�
�)d��d�	�)6C���	�3
�&��M�	43.6 10h Km� � �����
GH����Q+�Ql���C�UF��R�#!��*��	���R�	�`�� 
KH��s�	�!�7��)*+�� �	�H��R�	�)��T�J�)5�	���	�)��#�	�N#C%

��*��	�R�#! �k�S� �#M�	��!�"��"��	�" 
����
�������G=6.67 10-11  SI   ��v�@	��8<�VQ���2�

�RT=6.4 103 Km ���v�@	�)6�$�2MT=6.0  1024 Kg���
����������������

��:.�	�7��)6d���	�)*+����:�	�
�	��	�>� �cOc��E��d�	��M��6�����!�/!�)��:��	�"E=4V�
���!"�R!�7!"%��<���0!�^�g�!R�����9T�)�d:!210C F������*M	��)9*�"�"L��"

�)9-�<�"�)6��!�)*6l	��	����!"�R!K��
�J�0r��	�7��)9-�R�	�01�G�)�d:��	�/�.���)*��$�
����HC�7��)9-�R�	�\6A��UF�

J�0r��	K����?�9��);���� ��Ht=0�
GH��)�,���
�	�6��)*6r����	�)���9��	��'"%)�d:��	�) ��q ��� 
KH�8�	��%�/*����H)���FJ�)w���!�
�	�6��)*���'D	�)< 
OH��:.�	�� � !��d�5�cXc��) �.�	�Y	�*AMq���/!>�	�)�,�� 

�%�����*69��	�0!��
�	��	�7��W	>��,	�a�����C 
�_���7M	h�	��"��	�)�*<�/*�T0 �� 

�[����%�\R�M29 10L H�� �����hlm��J2 10* ���H 
�����)�*<��'"%EC��)�d:��	�7��)�>b��	�)*+����:�	�)<�8�	

�);�6�	�� �t=0s �� 
�s���)�*<��'"%Eb��)9*���	�7��)�>b��	�)*+����:�	�)<�8�	

�);�6�	�� �t=7.5ms ��
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	�/*�8R �	8R �	
�%�%��#�	
�_� �_�)��#�	#�	

7����R�	�
�)d��d�	�)6C���R�	�
�)d��d�	�)6C
443.6 103.6 Km4h 3.6 103.6 10� 3.63.6

C�UF��R�#!��*��	���R�	�`UF��R�#!��*��	��
)��T�J�)5�	���	�)��#�T�J�)5�	���	�)

S� �#M�	��!�"��"��	�"#M�	��!�"��
G=6.67G=6���8<�VQ���2VQ���

�v�@	�)�v6.0  1002424 KgKg

��:cOc� Oc��!�/!�)��:��	�"!�)��:��	�"
����9T��100C FF100��F

�)�d:��)CC)9-�R�	�\6A��UF�\6A��UF�
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�	0	�	������	1�����		2	
����
���������	&��
��������7������ ��

�/:�5�W���	�)�+	�������T%��*1�M��5��^��9�T	��^��:�	

4 9C H OH���L5���d5D	�q�C�0!�
I�'�5��3��L5���d5D	�71������M�"��<�)5���d�	��?b!�7�

��*p�/*M�"��R�	�7�Rg,�)���$��%�� ;C,�L5���d*��	�"
�7����'���	�q���	�7�#����/*��r	"
�"��R�	����"@	

����R COOH���q�C�"
�"��R�	������)*��d�	
R COOH� ��hlm���)6�:�	�j���/*M�"��R�	�/! 

m=0.6 g ��/*�6'�C�7�����91��"�/**R �	�/*1���	�/!
����C��8R��	�]��������:��"�/*�5��*����6���Q

�/*��6�!( S1 )��7����'���	�q���	�\�	�5
�"��R�	�
�"���"@	(S2) ��7����'���	�q���	�\�	�5
�"��R�	�

����^�6�!��$�U�C�)*��d�	V=800 ml ���
hlm���/!�^�6���	(S1)�����CV1=10 ml��s�5�9��"

�4�5��Q�	��*#$"��*��^�6�!�)8T	��


 �Na OH� ����7����	�s>*$�MCb=10-2 mol/l ��

�
�^�6���	�0!�)�����	�j�����:�2(S2) �hlm������CV2=10 ml��4�5��Q�	��*#$"��*��^�6�!�j���)8T	���s�5�9��"


 �Na OH� ������	�Y�T�*<�"�pH���:.�	�7��/*��*?�	��6��^�Q��	�/!�E :!cfc�J�� � ��	�B*CG�^�6���	�\�	�5�H(S1)��"

J�� � ��	K�^�6���	�\�	�5�H(S2)��
GH���/*1���	��C@�
�5�9��	�����M�)���9!�N�$% 
KH��)8R��Y�*F	�C	��*��*��/*��		��^�6�!��:��y��:� 
OH��/!�=$�N#C%C1��^�6���	�>*$�M(S1)��"C2��^�6���	�>*$�M(S2)�� 
XH���$�7����'���	�q���	�S� �T	
�"��<� 
fH�����	��*��*��/*�pKA���o�<@	����5%�	���!�q�C��:� 
iH���]���	�0!�^"@	�q���	�����M�)���9!�N�$%����3% 

�/*���3_pH ��^�6���	(S1) ���
�5�9��	��?<�
��N#C%��3[f����S� �#M�	��!�" 

II�3�z�"��7��01�0.1mol���^��:�	�/!4 9C H OH��"0.1 mol��E5�?:�	�q�C�/!�Y	�8<�0!�L5���d5D	�q�C�/!
�)8T	���z�"��	�7��7R?���	�q���	��5�9���M���	�/*b#��	�/!�)*��$�
�!��9�2�>$���	�4�5��Q�	��*#$"��*��^�6�!�7����	�s>*$�M

Cb=2mol/l ��y��:��	�U�C���:�VE=16.5 ml ���
GH��^��:�	�"�L5���d5D	�q�C�/*���g���	�^���6��[h� ��	�������	�)���9!�N�$% 
KH�k�>$���	�E5�?:�	�q�C�"��M���	�/*b#��	�^��9�T	�/!�
�+���	��! 
OH��)*�$�N#C	�
��!�)*�$�S� �T	�"�7R?���	�q���	�
��!�SM� �	���T@	 
XH���$�%�J�� *#�M�/:�5�V*$�"��"����	�)�*<�N#C%O�Hz�- 
fH��SM� �	���T@	�"���9�#��	�^��:�	��UT(�"�)6Q�!�VQ �	�)A*Q�	�78�%�UF���9�#��	�^��:�	�V g���C�

��
��������12 / ; 16 / ; 1 /C O HM g mol M g mol M g mol� � ���
�

��������������������������������������������������������������������������������������������������$
��2
�
�
���&��@�
���������������������������������������������������������������������
��������������������������������������������������������������������	������,���	�����	�+	9�+�����:;<=		
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#����/*��r	"/*��r	"
��������COOHOOH

R COOHCOOH�m�
m=0.6 gm=/*1���	�/!���	�/!

8R��	�]��������:��"�/*�5]��������:��"
( S( 1 )��	�q���	�\�	�5q���	�\�	�5
(S'���	�q���	�\�	�5'���	�q���	�\�	�

����^�6�!����^V=800 ml =800 ml 
(S����C���CV11=10 ml=10 ml"

�4�5��Q�	��*#�4�5��Q
�7����	��7b=10-22 mol/l  mol/l 

(hlm�hl����C���CV2=10 ml0 ml

?�	��6��^�Q��	�/!�E :Q��	�/!

/

�^�6���	�>*�^�6��(S(S22))����

/!�Y	�8<�0!�L5���d5DY	�8<�0!�L5�
�5��Q�	��*#$"��*��^�6Q�	��*#$"��*�

�SM�
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